Intermediate Korean: Lesson 7 AI &0 A

G 7.1 Indefinite pronouns
First listen to each dialogue and repeat.

1.A: 00l ACHLAR?

2. At & otMIR?

3. A: 28 =7 2LIANR?

4.A: 1S AHM L 2HE HURKR?
5. A: 2 S0l =t 2 AN K?
6.A:HE O UAE HUHK?
7.A:0lH 2 20 30H0FEHR?
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First listen to each dialogue and repeat.

1. A 2 JHH 2201 MAK?

1 OHIIED} Ot SHAIR?

21 H3ot XIZoHAl HUHK?

1 AFEO0l O 2N =40tk ZEpAHK?
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G 7.3 Passive verbs
First listen to each dialogue and repeat.

1. (2C+ - 20ICH)
At Ml & ENR.
2. (&CF - &al0h)
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Repeat after each sentence.

1. (MCH SMS0l SA2 20l M JAHR
SHCH SO0l 2 XHoil SE0F AN
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Repeat after each sentence.

1. (2HS0H = WK aroll 2t
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Repeat after each sentence.
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Repeat after each sentence.

1. (WOIICH =440 ALISHHI Dt S B804 JHXID 21 AU 2.

2. (2CH 0PIt R Qi 20 JtXID A2t OlAHBHR

3. (OI&GHXICH AFEOl SA2I0F OIAGHA JtXID MU =X ST
4, (0l LICH) O RAE E0 20l Lt JXI2 O g2 o2 AR
5. (XIRot0) 2ddl™ 200 U KR It D SUAAR.

6. (220 MB0l= 2t IHKD 20 EXNE RN K.

7. (20 2= 0td S UR 20l HO It X2 it 24 2.
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